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Let each amplitude metric represent zero-to-peak. Note that displacement is sometimes given as
peak-to-peak.

The conversion formula from displacement to acceleration is
_ 2
A=(2nf)"D (1)

Example:

D=0.5in at f=10Hz

A = (21 10 Hz)? (0.5in)

A=1974 in/sec2

Divide by 386 to convert from in/sec”2 to G.

A=51G



The conversion formula from velocity to acceleration is

A=(2nf)V (2)
Example:

V=20 in/sec at f=100 Hz

A =(2r 100 Hz)(20in/ sec)

A=12566 in/sec”2

Divide by 386 to convert from in/sec”2 to G.

A=325G



